## EMMANUEL PRIMARY SCHOOL KITCHEN CONSTUCTION REPORT.

Emmanuel primary school is under the sisters of Mary of Kakamega, located in the rural of Kitale town. It's a mixed primary school with 346 pupils between 3 years and 14 years of age.

The girls are 190 and boys are 156 in number. The school is one the good performing schools in the region and it also caters for poor children. Some of the children walk a long distance to reach the school and therefore living home without breakfast. Although the government gives almost free education in primary school, it doesn't give feeding program for children who can't afford lunch or cannot go back at home for a meal then come back in the afternoon to continue with classes. This is the reason Emmanuel primary school has the feeding program where they feed the children at school. They give the children tea at 10 o'clock in the morning and lunch at 1.00 pm.

To achieve this the school needed a descent kitchen to prepare meals for the children and also to enable the worker who prepares meals have a conducive environment to work by reducing smoke inhalation and possible food contamination.

I wish to thank the Christians and well wishers who joyfully and generously contributed to enable this school have a descend kitchen. You will all remain in our hearts. May God protect you all, the children, the youth, men and women who have the golden hearts of touching other peoples lives. May God reward with happiness all your lives and good health.

#### YOUR GENEROSITY HAS CROSSED SO MANY BOARDERS TO REACH A CHILD IN KENYA.

### THE FINANCIAL REPORT FOR CONSTRUCTION OF A KITCHEN

NO.		UNITS	UNIT COST	AMOUNT
1	BRICKS	6000	7	42,000
2	SAND	3 TRIPS	27,000	81,000
3	BALLAST	2 TRIPS	25,000	50,000
4	HARDCORE	1	17,000	17,000
5	MURRAM	1		17,000
6	BUSH STONES	800FTS		30,000
7	4X2	1300F.S	30	39,000
8	3X2	900F.S	25	22,500
9	CEMENT	190BAGS	850	161,500
10	D.P.C B.P.M PAPER	1 ROLL	2,900	2,900
11	WALFAS 50KG	50KG	180	9,000
12	IRON SHEET 3M	56PCS		80,080
13	IRON SHEET 2½M	25PCS		30,000
14	T-10	20PCS	1,150	23,000
15	T-8	18PCS	750	13,000
16	BINDING WIRE	24KG	170	4,080
17	ROOFING NAILS	25KG	256	6,500
18	ROOFING RUBBER	24KGS	100	2,400
19	SILICON	2PCS	450	900
20	RIDGES	18PCS	550	9,900
21	GLADIATARS	1 LTR		2,650
22	BLACKS PIPE	4PCS	4,500	18,000

23	MESH WIRE	2PCS		1,800
24	ORDINARY NAILS	25KG	170	0
	5"			
	3"	7KG	170	0
	4"	15KG	170	0
	2"	5KG	170	8,840
25	STEEL DOOR	2		10,000
26	SINK	1PCS		5,600
27	ORDINARY DOOR	1PCS		3,400
28	LOCKS	2PCS		3,700
29	FRAME	2PCS		2,400
30	4 SPRING HINGES			1,000
31	8X1	292 FIS	60	17,520
32	3X2	130FIS	130	3,250
33	SILLING	4PCS		3,600
34	SILLING NAILS	2KG	400	0
35	CONES	80FIS	25	2,000
36	ORDINARY NAILS 3"	3KG		1,190
37	ORDINARY NAILS 4"	4KG		0
38	MEL DOOR	2PCS		6,800
	TOTAL			733,510
	LABOUR			183,377.5
	GRAND TOTAL			916,887.5

## **EXPENDITURE FOR DOORS**

ITEM	QUANTITY	AMOUNT
FRAME	2PCS	2,400
STEEL DOOR	1PCS	2,000
STEEL PIPE		1,500
TIMBER TRANSPORT		2,600
TOTAL		8,500

## EXPENDITURE FOR SEPTIC TANK

NO.	<u>ITEM</u>	<u>UNITS</u>	<b>UNIT COST</b>	<u>AMOUNT</u>
1	CEMENT	12BAGS		8,400
2	T -12	12PCS		14,400
3	T-8	10PCS		8,500
4	MESH WIRE	4PCS		3,600
5	BINDING WIRE	8KG		1,440
6	WATER PROOF	7PKT		1,050
7	MAN HOLE COVER	1PCS		2,750
8	ORDINARY NAILS	5KG		1,120
9	OFFCT	15PCS		3,750
10	POST	5PCS		1,250
11	•			
	SUB TOTAL			46,260

LABOUR		11,565
GRAND TOTAL		57,825

#### **EXPENDITURE FOR PAVEMENT**

<u>ITEM</u>	QUANTITY	PRICE
Cement	28bags @ 700	19,600
Bricks	1000 @ 7	7,000
Water proof	7pkt	1,050
Sand	1trip	12,000
ballast		5,000
<u>TOTAL</u>		44,650
LABOUR CHARGES		11,162
		55,812

**GRAND TOTAL** 916,887.50

8500.00

57825.00

55,812.00

K\$H. 1,150,648

# TOTAL AMOUNT RECEIVED FOR THE KITCHEN KSH 945,090 ON $14^{\text{TH}}$ JULY 2022

## **OVEREXPENDITURE KSH. 205, 580**

There was an over expenditure due to the high cost of material and also the measurement for the kitchen was added to accommodate the room for the cook. The sister took more material on credit and therefore they are paying in very small instalments the ksh, 205,580 which we hope to finish by April 2023.

On the list of items nails are costed as 00 because the hospital had a lot of nails remaining in the store after theatre renovation, this is what was used on the kitchen with small contribution from the hospital.

Pictures of the kitchen from start to completion



## **Hardcore**



Murram



Sand



Foundation stones



Kitchen foundation dug



Kitchen slab constructed



Good progress of construction



Rear view of the kitchen showing the cooks room. The kitchen roofed , door and windows fitted



Front view of the kitchen. Plasta already done



Rear view , plasta done, chimney fixed , faciaboard fixed



Side view of the kitchen



Front view, completed kitchen



Rear view completed kitchen





THANK YOU SO SO MUCH.